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Note: You have four choices for each objective type question as A, B, C and D. -qLJ’)}ww,;gv
The choice which you think is correct, fill that circle in front of that question number. Use marker or pen
to fill the circles. Cutting or filling two or more circles will result in zero mark in that question. Attempt as
many questions as given in objective type question paper and leave others blank. No credit will be awarded
in case BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.

Q.No.1 ‘ A A

(1) ASI becomes Head Constable isa ___ mobility. ek K T A (1)
(A) Horizontal & (B) Downward (s> (C) Upward (2 (D) Geographic d’y'/o

(2) Cultural variability in Pakistan is:- e oEFEsuel (@)
(A) Urdu 351 (B) Islam (1! (C) Constitution ufff (D) Local Dress VS

(3) Increase in Pay is mobility. ) ~+6{%=«rf - Juluﬁoi};’” (3)
(A) Upward ($° (B) Downward (s> (C) Horizontal &' (D) Geographic dyw

(4) Change in relationship between Parents and Children, is called:- .-qtjif&iuﬁaWwamq,db (4)
(A) Social change (- (B) Cultural change (43¢
(C) Economic change &,v“u“’b» (D) None of these ui";af’:&/c;uﬁu!

(5) The main resistance in Social change is:- -9&366"/,4%&»&0&}?&? (5)
(A) Vested Interest Groups .;5/2/4)& (B) Overpopulation d:g@'/"
(C) Villages =l (D) None of these (A0 Ut

(6) The founder of Modern Sociology is:- «Laf}g&uyﬂ/ég,«g (6)
(A) W.G. Sumner #{.45 (B) August Comte &g f (C) Durkheim (/lp'w" (D) Max Weber Az:u“g

(7) ____is a Social Science. PR S 7)
(A) Sociology «1* (B) Physics JK/ (C) Biology (.##( (D) Chemistry d/’/ﬁ(

(8) Minimum ___ persons are required for Social Interaction. -+8nu,/&u}u - ﬂ({.éd‘tﬁu’.v (8)
(A) 2 (B) 3 (C) 4 (D) 5

(9) The concept of Secondary Group was introduced by:- -L[ﬁ%r"“t{w’;d% 9)
(A) C.H.Cooley & J J&I.s  (B)W.G.Sumner & #{¥s*5 (C)Durkheim Z.f/b'w" (D) Maciver .5

(10) __is achieved status. _LLL}L;J/’W (10
(A) Chattha .z (B) Young (/27 (C) Male s, (D) Doctor 15

(11) Mores are:- (A) Compulsory Norms = U742 -uj,ﬂ:b’:/’ (11)
(B) Elective Norms < Us*5/L%/ (C) Non Serious Norms = Us*5457# (D) Formal Norms = 1/s*(5)

(12) It is essential for Social control:- -Lad/:/cj.é.lz;a&v (12)
(A) Justice Ll (B) Social class »»d (C) Social Action JGe (D) All of these L%

(13) Formal Positive Sanctions are:- <q7ag3”¢§p6 (13)
(A) Praise t/_3/ (B) Threat &, (C) Joking £33 (D) Medals &

(14) ___ society has high Fertility Rate. «Ladml.ﬂ%c}u:o}w (14
(A) Industrial & (B) Urban (L (C) European (. (D) Agricultural §.J

(15) Social Norms are not found in ______ society. -Lnuﬁzrau,v“”u’.v (15)
(A) Urban 3LA (B) Rural (§~s (C) Modern 4. (D) Animal L}'}:’

(16) Uniformity in social needs causes:- (A) Cultural variabilities aﬁlﬂiiéjlﬁ -w&’yg{agufu:gw/ (16)
(B) Cultural similarities alﬁb’d’@ (C) Ethics agu&u (D) Customs Uwﬂ )

(17) Opposite of Ethnocentrism is:- -LLU&J:/..“; 17)
(A) Change uE,v“ (B) Poverty e f (C) lliteracy di’!}t (D) Cultural Relativism aj&'d’lﬁj

(18) The more popular marriage in Pakistan is:- _Léd}:;‘"u&)d)lﬁ - u.’fuL“fg (18)
(A) Arranged o5& (B) Court xe/ie (C) Love Jest (D) Exogamy .k )

(19) Informal Education is obtained through:- (A) Schools and colleges c-_}l{n!u):ﬁ -‘L&MJ’WZ%@:; (19)
(B) Universities c;u;;f’/}z'}j (C) Home :_/f (D) All of these L(l/"ul

(20) ____is changeable. S (20)
(A) Social Class =#lzZF (B) Sex J” (C) Caste =13 (D) Tribe L*
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